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CHEMISTRY 

 Course ID: 11418                                     Course Code: SPCHE-101-C-1A(T) 

Course Title:  F.O.C. & A.H., A.S, C.P., A & B, R.R. 

Time: 1 Hour 15 Minutes                                                                                 Full Marks: 25

       

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words 

as far as practicable 

 

1. Answer any five of the following questions:                                                         1×5 = 5 

যে য োন ো পোাঁচটি প্রনের উত্তর দোও :  

(a) Write down the electronic configuration of Cu2+ ion. 

Cu2+ আয়ন র ইনে ট্র  বি যোস যেখ। 

(b) Which one is stronger between sigma and pi bond?  

সিগমা ও পাই বন্ধনের মনযে ক ােটি কবসি িক্তিিালী? 

(c) If the value of m is 2, then what is the probable vale of l? 

েবদ ‘m’ এর মো  2 হয় তোহনে ‘l’ এর সম্ভোিয মো  গুবে ব  হনি? 

(d) Define the term “Electron Affinity”. 

সংজ্ঞো যেনখো: ইনেক্ট্র  আসক্তি। 

(e) Give two examples of neutral nucleophile and neutral electrophile. 

দুটি সেস্তসিৎ সেউসিওফাইল ও ইনলনরাফাইল এর উদাহরণ দাও। 

(f) Draw the Fischer projection of D-Tartaric acid. 

D-িোরিোবর  আযবসনের বিশোর অবিনেপ সংন ত অঙ্ক   নরো।  

(g) What is the conjugate acid of OH- ion? 

OH- আয়  এর অ ুিন্ধী আযবসনের  োম ব ? 



 
 

(h) What is the value of Rydberg Constant in C.G.S. unit? 

C.G.S পদ্ধবতনত বরেিোর্ গ ধ্রুিন র মো   ত? 

 

2. Answer any two questions:           5×2 = 10 

যে য োন ো দুটি প্রনের উত্তর দোও: 

(a) (i) Write down three limitations of Bohr’s theory. 

      যিোরতনের বত টি সীমোিদ্ধতো যেনখো । 

(ii) The value of first ionisation energy of Nitrogen is greater than Oxygen-explain. 

                                                                                                                                3+2 = 5 

 োইনট্রোনেন র প্রথম আয় ীিিন র মো  অক্তিনেন র তুে োয় যিবশ হয় য  ? 

(b) (i) An alkene on ozonolysis affords two molecule of acetone. Identify the alkene and 

mention its IUPAC name. 

এ টি আযেব ন র ওনেোন োবেবসনসর িনে দইু অ ু আযবসনিো  উৎপন্ন হয়। আযেব  টি 

শ োি  নর IUPAC  োম যেনখো। 

(ii) What is homolytic and heterolytic bond fission? Discuss with example.  2.5+2.5 = 5 

িুষম ও অিম সবভাজে বলনে স  কবান া? উদাহরণ িহ বোখ্ো  নরা। 

(c) Write short notes on the following (any two):                                                 2.5+2.5 = 5 

ব ম্নবেবখত বিষয়গুবের উপর িী ো বেখ। (যে য োন ো দুটি) 

(i) Hund’s rule. 

হুনের সতু্র। 

(ii) Electronegativity. 

তবিৎঋণোত্ম তো 

(iii) Metamerism. 

যমিোনমবরেম 

(iv) Carbocation. 

 োনি গো যোিোয়  

(d) (i) Under heating maleic acid gives maleic anhydride but fumaric acid does not.- Explain.  

Maleic-আযবসেন  উত্তপ্ত  রনে আয হোইড্রোইে যদয়, ব ন্তু বিউমোবর  আযবসে 

আয হোইড্রোইে যদয়  ো- িযোখযো  র।        



 
 

(ii) Compare the basicity of MeNH2 and PhNH2 

MeNH2 ও PhNH2 ক ৌগদুটির ক্ষার ীয়োর েুলো  নরা। 

(iii) Discuss the structure of Methyl Carbocation?                                               2+2+1 = 5 

সমথাইল  ানব বা োিায়ে এর গঠে আনলাচো  নরা। 

3.  Answer any one of the following questions:                                                  10×1 = 10 

(a) (i) What is ionization potential? Why the first ionization potential value is always lower 

than the second ionization potential of an element? 

আয়  বিিিব ? য োন ো যমৌনের প্রথম আয়  বিিনিরমো  বিতীয় আয়  বিিনির যচনয় 

 ম য  ?  

        (ii) What is nucleophile and electrophile? Give an example. 

সেউসিওফাইল ও ইনলনরাফাইল  ান  বনল? উদাহরণ দাও। 

 (iii) SO3 only acts as oxidizing agent - explain 

SO3 শুধু্মোত্র েোর দ্রিয রূনপ  োে  নর-িযোখযো  র। 

(iv) NH4Cl acts as an acid in ammonia solvent - explain                                3+3+2+2 = 10 

তরে আযনমোব য়োনত NH4Cl  আযবসে বহসোনি  োে  নর- িযোখযো  নরো। 

(b) (i) Draw the Newman and Fischer projection formula of 2,3-butandiol.               

2,3-বিউিো েোইঅে এর বিশোর এিং ব উমযো  অবিনেপ অঙ্ক   নরো।  

(ii) How to prepare: 

ব িোনি ততবর  রনি: 

(A) Acetylene to Acetone. 

আযবসটিবে  যথন  আযবসনিো  

(B) 1-Butene to 1-Butanol. 

1-বিউটি  যথন  1-বিউিো ে 



 
 

(iii) Trans-1,2-Dibromoethylene has zero dipole moment – explain. 

ট্রোন্স – 1, 2- েোইকরানমা ইসথসলনের সিনমরু ভ্রামন র মাে িেূে হয় ক ে বোখ্া  র। 

(iv) Whether the following reaction is forward or backward? 

LiI + CsF                CsI + LiF                                                                                   2+4+2+2 = 10 

সেম্নসলসখ্ে সবক্তিয়াটি িমু্মখ্মুসখ্ ো পশ্চাৎমুখ্ী বোখ্া  র 

LiI + CsF               CsI + LiF 

 

 


